[bookmark: _GoBack]It appears that the mapping should be to DefinedActivity.nameCode rather than DefinedObservation.nameCode.  One of the rules of the BRIDG mapping is that the mapping goes to the class.attribute where the concept directly resides.  So the nameCode does not directly reside in PerformedStudyAgentTransfer.  It resides in DefinedActivity.  So you have to traverse the path from DefinedActivity to PerformedStudyAgentTransfer to “access” nameCode from DefinedActivity.  That’s what the mapping path in the spreadsheet is for.  You can see the path that needs to be traversed in the snippet of the UML model below.  (Note that the mapping path in the spreadsheet is wrong, too – see more below).
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The nameCode comes  from DefinedActivity, but the ORRES variables are specific to PerformedStudyAgentTransfer.  So that’s why the mapping class and attribute names will be “PerformedStudyAgentTransfer” on the ORRES variables but not the TEST.   This is what is currently in the mapping spreadsheet for DATEST:
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The mapping path is also wrong. It is missing the link to PerformedStudyAgentTransfer and also needs to end with DefinedActivity.nameCode (not DefinedObservation.nameCode). 

The mapping path SHOULD look like this (but is now missing the highlighted section and should does not have DefinedObservation in the path):
PerformedActivity.PerformedAdministrativeActivity.PerformedStudyAgentTransfer (transfer activity that occurred on DADTC) > PlannedActivity > StudyActivity > DefinedActivity.nameCode.CD.originalText. 

Julie

From: Gary Walker [mailto:gary.walker@quintiles.com] 
Sent: Friday, June 10, 2011 12:37 PM
To: Julie Evans
Subject: RE: CDASH-ODM follow-up from Today's Call

Hi Julie,

Thanks for the mapping spreadsheet.  I was looking at this and have a question: On the CDASH tab, why is the DATEST the only DA variable that is not coded to the BRIDG StudyAgentTransfer object?  I would think that it should be.  Maybe the Status (Dispensed or Returned)?  I was trying to map out the DA variables and here's where I got:

	
	
	
	
	CDASH
	SDTM

	Did a study agent transfer occur?
	Y/N
	DAPERF
	DASTAT

	What transfer occurred?
	
	Dispense/Return
	DATEST/CD
	DATEST/CD

	Quantity transferred?
	
	#
	DAORRES/U
	DAORRES/U

	Date transferred
	
	date/time
	DADAT
	DADTC




Best regards,
Gary
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BRIDG R3.0.3

|Verbatim name. corresponding to
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